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Question 1

Question Type: MultipleChoice

You are defining application data in an Oracle Integration Cloud (OIC) process application and are
seeking to use Business Type view because it provides the tools required to create and manage
various business types. Which task CANNOT be performed in the Business Types View?

Options:

A- Import a business object from JSON
B- Create business exceptions

C- Import a business object from XML
D- Create business objects

E- Create enum objects

F- Import schema files

Answer:

Question 2

Question Type: MultipleChoice

With regard to OIC Lookups, Which two are valid statements?

Options:

A- You cannot clone an existing lookup if it is being currently referenced in one or more active
OIC integrations

B- A custom OIC XPATH function must be used to retrieve data from a look up in the Data
Mapper.

C- Lookup values are retrieved from a backend database at runtime

D- Lookup values must include two or more domains associated with corresponding Saas
applications

E- Changes that are made to Lookups referenced in active integrations will take effect
immediately without reactivating those integrations

Answer:
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D, E

Question 3

Question Type: MultipleChoice

Which JNDI name value must be provided when configuring the properties of a new database
adapter outbound connection pool to support dependent SOA composite applications?

Options:

A- The associated XA database adapter plan deployed with this database adapter outbound
connection pool.

B- The defined XA database adapter connection factory configured for this WebLogic domain.

C- The corresponding XA enterprise resource adapter application deployed to the same WebLogic
cluster.

D- The corresponding XA datasource configuration deployed to the same WebLogic cluster.

Answer:
C

Question 4

Question Type: MultipleChoice

Which Oracle Integration Cloud (OIC) service role does NOT have permission to run a flow?

Options:

A- ServiceDeveloper

B- ServiceAdministrator
C- Serviceinvoicer

D- ServiceUser

Answer:
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Question 5

Question Type: MultipleChoice

Which OIC XPATH function can be used to retrieve data from OIC Lookup within the data mapper
tool?

Options:

A- Get-value-from-lookup
B- getLookup

C- get-content-as-string
D- lookupvalue

Answer:
D

Question 6

Question Type: MultipleChoice

You are tasked with monitoring the SOA composite application and the underlying environment
with in a SOA Cloud Service instance.

Options:

A- Manage File Transfer Console
B- Weblogic Server Console

C- Fusion Middleware Control

D- Oracle Service Bus Console
E- B2B Console

F- Load Balancer Console

Answer:

Explanation:
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https://docs.oracle.com/cloud/latest/soal21300/SOAAG/GUID-66597D45-E262-4D19-A64C-DA54A
D633C98.htm#S0OAAG97797

Question 7

Question Type: MultipleChoice

Your organization has a number of active integration in Oracle Integration Cloud (OIC). Your
advice is sought on the consequences of deactivating integration instances.

Which statement concerning integration deactivation is NOT valid?

Options:

A-You can choose to retain the event subscription, where events are resent if the integration is
reactivated again within six hours.

B- Processing of any new messages will immediately stopped.

C- You will not able to observe any failed instances occurring after the deactivation request.

D- All existing history, monitoring, and runtime data will be lost.

Answer:
D

Question 8

Question Type: MultipleChoice

You are an Oracle integration Cloud ((OIC) specialist responsible for integrating two enterprise
application. Recently, you noticed that your integration instance is processing synchronization
much slower than expected, causing a significant delay in data synchronization between the
applications.

What is the best course of action?

Options:
A- Delete and re-create the integration to start with a clean state.

B- Analyze the performance metrics of the instance, identify bottlenecks, and optimize the
integration accordingly.
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C- Reactivate the integration to clear any temporary issues that might be causing the slowdown.
D- Immediately increase the number of instances to handle the increased load.

Answer:
B

Question 9

Question Type: MultipleChoice

Which four are key features of Oracle Integration Cloud Enterprise (OIC)?

Options:

A- Data stream analytics

B- Application Integration

C- Web and Mobile application creation
D- Business process automation

E- Enterprise Service Bus (ESB)

F- Business to Business (B2B)

Answer:
A B, C E

Explanation:
https://docs.oracle.com/en/cloud/paas/integration-cloud/user-stream-analytics/working-stream-an
alytics.html#

https://cloud.oracle.com/en_US/OIC/features


https://docs.oracle.com/en/cloud/paas/integration-cloud/user-stream-analytics/working-stream-analytics.html
https://docs.oracle.com/en/cloud/paas/integration-cloud/user-stream-analytics/working-stream-analytics.html
https://cloud.oracle.com/en_US/OIC/features
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